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(1) Al
. Ju 5 # JI| K kS
e A R A& Lowm & L Ji
il # Hi A A OB i M i3
A *
K Tk El I A A
i) A B ] ) A ) + m
) b~ K m/n 2] b~ K m/n 2] s/ [FON m/n
p H 7.6 7.5 2~ 1.6 0/12 7.6 7.5  ~ 1.7 0/4 7.4 7.3 .7 0/12
D @) 10 8.4 ~ 13 0/12 10 8.7 ~ 13 0/4 9.7 7.4 12 0/12
B B o D 0.7(0.8) 0.5 ~ 1.1 0/12 | 0.9(1.0) 0.5 ~ L2 0/4 | 0.9(1.1) 0.6 5 0/12
i C [¢) D 1.4 L0 ~ 2.1 —/12 1.7 L3 ~ 1.9 —/4 2.6 1.7 1 —/12
S S 3 1 ~ 5 0/12 3 1 ~ 5 0/4 4 2 10 0/12
H X B BOXK 1600 490~ 3500 8/12 2100 330~ 4900 2/4 6300 490 23000 | 4/12
] i 9y
4 %= E3 0. 49 0.37 ~ 0.66 -/4
4 ) b 0. 020 0.012 ~ 0.031 -/4
s F I v A <0. 001 ~ <0.001 | 0/4 <0. 001 <0.001 | 0/2
ES P 7 v 0.1 ~ <0.1 0/4 0.1 0.1 0/2
# <0. 002 ~ <0.002 | 0/4 <0. 002 <0.002 | 0/4
AN fi 7 m A <0. 02 ~  <0.02 0/4 <0. 02 <0. 02 0/2
fi it # <0. 005 ~ <0.005 | 0/4 <0. 005 <0.005 | 0/2
#n 7K il <0. 0005 ~ <0.0005| 0/4 <0. 0005 <0.0005 | 0/2
VA .
P C B <0. 0005 ~ <0.0005| 0/1 <0. 0005 <0.0005 | 0/1
Y /s mom A X v <0. 002 ~ <0.002 | 0/4 <0. 002 €0.002 | 0/2
b e ok # <€0. 0002 ~ <0.0002 | 0/4 <0. 0002 €0.0002 | 0/2
L2-Y 7 v o= 4 v <0. 0004 ~ <0.0004| 0/4 <0. 0004 €0.0004 | 0/2
H L- ¥ s 8 m = F Ly <0. 002 ~ <0.002 | 0/4 <0. 002 €0.002 | 0/2
vAZYsEE=F Ly <0. 004 ~ <0.004 | 0/4 <0. 004 €0.004 | 0/2
LLI- kY s m e E sy <0. 0005 ~ <0.0005| 0/4 <0. 0005 <0.0005 | 0/2
Ll kY s m e oE sy <0. 0006 ~ <0.0006 | 0/4 <0. 0006 <0.0006 | 0/2
W EE <0. 002 ~ <0.002 | 0/4 <0. 002 €0.002 | 0/2
FF3 s mE =T Ly <0. 0005 ~ <0.0005| 0/4 <0. 0005 <0.0005 | 0/2
I L ¥ s = om 7 om Ny <0. 0002 ~ <0.0002| 0/1 <0. 0002 <0.0002 | 0/1
7 4 7 N <0. 0006 ~ <0.0006 | 0/1 <0. 0006 <0.0006 | 0/1
v~ vy (CAT) <0. 0003 ~ <0.0003| 0/1 <0. 0003 <0.0003 | 0/1
F AN h LT <0. 002 ~ <0.002 | 0/1 <0. 002 €0.002 | 0/1
~ v + 2 <0. 001 ~ <0.001 | 0/4 <0. 001 <0.001 | 0/2
+ v Dz <0. 002 ~ <0.002 | 0/4 <0. 002 €0.002 | 0/2
5 - # <€0. 1 ~ <0.1 0/4 <€0. 1 <€0. 1 0/2
H [E3 5 # 0. 06 0.04 ~ 0.08 0/4 0. 09 0. 04 0.19 0/4
BB KR OCHE R R MR X 0.37 0.24 ~ 0.57 0/4 0.54 0.48 0. 60 0/2
(rY B M= F) 0. 36 0.23 ~ 0.56 -/4 0.53 0. 47 0.59 -/2
EXT XEED <€0.01 ~ <0.01 -/4 0.01 0.01 -/2
L4 Y & X 4+ v <0. 005 ~ <0.005 | 0/4 <0. 005 <0.005 | 0/2
/7200 = T = B | VERVN
e <0. 004 ~ <0.004 | 0/1
L2 ¥ s = om 7 om Ny <0. 006 ~ <0.006 | 0/1
R <€0.03 ~ <0.03 0/1
9 A4 Y F % F F v <0. 0008 ~ <0.0008| 0/1
z AT Y ) v <0. 0005 ~ <0.0005| 0/1
7 = = b u F oF v <0. 0003 ~ <0.0003| 0/1
4 v Fa F AT <0. 004 ~ <0.004 | 0/1
e A | <0. 004 ~ <0.004 | 0/1
"l s amxr = <0. 004 ~ <0.004 | 0/1
7w v ¥ I K <0. 0008 ~ <0.0008| 0/1
E P N <0. 0006 ~ <0.0006| 0/1
w Y 7 v L R R <0. 001 ~ <0.001 | 0/1
7 = ) T h T <0. 002 ~ <0.002 | 0/1
{4 7 v X vk R <0. 0008 ~ <0.0008| 0/1
Jmg=fkn 7 o=y <0. 0001 ~ <0.0001| -/1
. r v - Dz <0. 06 ~ <0.06 0/1
- * D2 v 2 <0. 04 ~ <0.04 | 0/1
ER R T RN <0. 006 ~ <0.006 0/1
= v r v <0. 005 ~ <0.005 | -/1 <0. 005 ~ <0.005 | -/2 <0. 005 <0.005 | -/2
® vV 7 F v €0.01 ~ <0.01 0/1
H VA . <0. 001 ~ <0.001 | 0/1 <0. 001 ~ <0.001 | 0/2 0.001 0. 001 0/2
R <0. 0002 ~ <0.0002| 0/1
T ¥ s mat kY v <0. 0001 ~ <0.0001| 0/1
e = v H v <0. 02 ~ <£0.02 0/1
v 7 e <0. 0002 ~ <0.0002| 0/1
(5 7 = J — v H <€0. 01 ~ <0.01 -/1
4 <€0. 01 ~ <0.01 -/1 <€0. 01 ~ <0.01 -/1 <€0.01 <€0. 01 -/1
Bl wm om w & 0.1 ~ 0.1 | -/ 0.1 0.1 | /1
5 W~ v <0. 05 ~ <0.05 -/1 0.05 0.05 -/1
- 7 =4 N <€0. 02 ~ <0.02 -/1
ST T . 7/ G 3.95 20 ~ 53 | -/12 186 6.7 49 | /12
b I G W
% T Uk =Y LEER 0.02 0.01  ~ 0.02 -/4 0.15 0.13 0.16 -/2
AT 4 i #h 0. 004 0.003 ~ 0.004 | /4 0. 005 0.004 ~ 0.006 | 0/2 0. 006 0. 004 0. 008 -/4
24 7 w wm &k N A <0. 003 ~ <0.003 | -/2 <0. 003 €0.003 | /1
HE| 7 = ) — L <0. 005 ~ <0.005 | -/1
| A v 57 v F e F <€0.03 ~ <0.03 -/1
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HALIX, pH « KIGHEREAZBRE . mg/L, KISEEHEELIIMPN/100mL,
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i I Z’ 7 A £33 JIl £33 JIl A £33 JI
il # Hi M WK b i A I Bk 6
A * *
K Tk El I B B B
i) A B ] [ A ) € & wm A
F b~ K m/n F b~ K m/n F b~ K m/n
p H 7.4 7.2~ 1.5 0/12 7.3 7.2~ 15 0/4 7.4 7.2~ 8.2 0/12
D [0) 9.7 6.1 ~ 12 0/12 9.2 .1~ 12 0/4 9.7 .4~ 12 0/12
B B o D 1.3(1.6) 0.7 ~ 2.5 0/12 | 1.5(1.7) .2~ 18 0/4 | 1.0(1.3) 0.5 ~ 2.4 0/12
i C [¢) D 2.8 1.3 ~ 4.5 -/12 3.5 2.7~ 4.3 -/4 2.9 L9 ~ 5.2 —/12
S S 6 1 ~ 15 0/12 9 4 ~ 19 0/4 7 3 ~ 16 0/12
H X B BOXK 4200 490~ 16000 | 4/12 13000 790~ 23000 | 2/4 10000 490~ 49000 | 6/12
] i 9y
ES %= ES
4 ) v
s F I v A <0. 001 ~ <0.001 | 0/4 <0. 001 ~ <0.001 | 0/4
ES v 7 v 0.1 ~ <0.1 0/2 0.1 ~ <0.1 0/4
# <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/2 <0. 002 ~ <0.002 | 0/4
Aoy v A <€0. 01 ~ <0.01 0/4 <0. 02 ~ <0.02 0/4
fi it # <0. 005 ~ <0.005 | 0/2 <0. 005 ~ <0.005 | 0/4
#n 7K il <0. 0005 ~ <0.0005| 0/4 <0. 0005 ~ <0.0005| 0/4
VA .
P C B <0. 0005 ~ <0.0005 | 0/1 <0. 0005 ~ <0.0005 | 0/1
Y s mowm A K <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
b e ok # <€0. 0002 ~ <0.0002 | 0/4 <0. 0002 ~ <0.0002 | 0/4
L2-Y 7 v o= 4 v <0. 0004 ~ <0.0004 | 0/4 <0. 0004 ~ <0.0004 | 0/4
H L- ¥ s 8 m = F Ly <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
vAZYsEE=F Ly <0. 004 ~ <0.004 | 0/4 <0. 004 ~ <0.004 | 0/4
LLI- kY s m e E sy <0. 0005 ~ <0.0005| 0/4 <0. 0005 ~ <0.0005| 0/4
Ll kY s m e oE sy <0. 0006 ~ <0.0006 | 0/4 <0. 0006 ~ <0.0006 | 0/4
W EE <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
FF3 s mE =T Ly <0. 0005 ~ <0.0005| 0/4 <0. 0005 ~ <0.0005| 0/4
I L ¥ s = om 7 om Ny <0. 0002 ~ <0.0002| 0/4 <0. 0002 ~ <0.0002 | 0/1
7 4 7 N <0. 0006 ~ <0.0006 | 0/4 <0. 0006 ~ <0.0006 | 0/1
v~ vy (CAT) <0. 0003 ~ <0.0003| 0/4 <0. 0003 ~ <0.0003 | 0/1
F AN h LT <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/1
~ v + 2 <0. 001 ~ <0.001 | 0/4 <0. 001 ~ <0.001 | 0/4
+ v Dz <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
5 - # <€0. 1 ~ <0.1 0/4 <€0. 1 ~ <0.1 0/4
H [E3 5 # <0. 02 ~  <0.02 0/4 0. 02 €0.02 ~ 0.03 0/4
BB KR OCHE R R MR X 1.1 0.75 ~ 1.4 0/4 0.77 0.65 ~ 0.98 0/4
(rY B M= H#) 1.0 0.73 ~ 1.3 -/4 0.74 0.63 ~ 0.96 0/4
(HE A4 W& Pk % %) 0. 06 0.02 ~ 0.11 -/4 0.02 0.02 ~ 0.03 0/4
L U A4 x F v 0. 006 <0.005 ~ 0.01 0/4 <0. 005 ~ <0.005 | 0/4
/200 = T = B | VEVN
Fr v xarv e =y <0. 004 ~ <0.004 | 0/1
L2 ¥ s = om 7 om Ny <0. 006 ~ <0.006 | 0/1 <0. 006 ~ <0.006 | 0/1
Y s omom o<y ¥y <0. 03 ~ <0.03 0/1
9 A4 Y X % F F v <0. 0008 ~ <0.0008 | 0/1
AT Y ) v <0. 0005 ~ <0.0005 | 0/1
7 = = b u F oF v <0. 0003 ~ <0.0003 | 0/1
4 Y Fa F AT <0. 004 ~ <0.004 | 0/1
F v v W <0. 004 ~ <0.004 | 0/1
i s mom 4 B = ) <0. 004 ~ <0.004 | 0/1
7w v ¥ I K <0. 0008 ~ <0.0008| 0/1 <0. 0008 ~ <0.0008 | 0/1
E P N <0. 0006 ~ <0.0006 | 0/1
" Y/ v L AR R <0. 001 ~ <0.001 | 0/1
7 = ) 7T h T <0. 002 ~ <0.002 | 0/1
{4 7 B X vk R <0. 0008 ~ <0.0008| 0/1
Jmg=fkn 7 o=y <0. 0001 ~ <0.0001| -/1
- N v ES v <0. 06 ~ <0.06 | 0/1
- * D2 v Dz <0. 04 ~ <0.04 | 0/1
TH MY =T~ E LA <0. 006 ~ <0.006 | 0/1
= v r v <0. 005 ~ <0.005 | -/2 <0. 005 ~ <0.005 | -/1
t® vV 7 F v <€0. 01 ~ <0.01 0/1
H 7 v F v 0. 003 0.001 ~ 0.004 | 0/2 0. 002 0.001 ~ 0.002 0/2
Bk =0 ) v — <0. 0002 ~ <0.0002 | 0/1
B <0. 0001 ~ <0.0001| 0/1
& = v H v 0. 08 0.06 ~ 0.1 0/2
v 7 e <0. 0002 ~ <0.0002 | 0/1
(5 7 = J — ) H €0.01 ~ <0.01 -/1
4R <€0. 01 ~ <0.01 -/1 <€0.01 ~ <0.01 -/1
* w il [ 73 0.1 ~ 0.1 -/1
| AR~ o T <0.05 ~ <0.05 | -/1
- Vi = N <0. 02 ~ <0.02 -/1
] ok A4 A v 13.7 0.9 ~ 17.2 -/4 15.1 7.1~ 46.8 | -/12
b I G W
S 7ovoE =y AR EHR 0.12 0.02 ~ 0.19 -/4
AT 4 i & 0. 007 0.002 ~ 0.018 -/6 0.009 0.007 ~ 0.011 -/2 0. 007 0.003 ~ 0.01 0/4
24 7 w wm &k N A <0. 003 ~ <0.003 | -/l <0. 003 ~ <0.003 | -/2
HwE| 7 = ) — L <0. 005 ~ <0.005 | -/l <0. 005 ~ <0.005 | -/1
Am| & v &4 7 4 F e F <€0. 03 ~ <0.03 -/1 <0.03 ~ <0.03 -/1
<ffi#E>  w/nid, BREIEE CUIFREHE) I8 A LR WIREE ki
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. Ju 5 # Jil K kS
i I Z’ 7 & B2 JIl B JIl & | JI
kG # Hh % [T EN . KB
A * *
K Tk El I A A B
i) A B 2] [ [ i [
F b~ K m/n 2] b~ K m/n 2] b~ K m/n
p H 8.0 7.6  ~ 8.6 1/12 7.9 7.6  ~ 88 1/12 7.6 7.5 ~ 17 0/12
D @) 11 9.0 ~ 14 0/12 11 8.9 ~ 2 0/12 9.8 6.2  ~ 0/12
- B o D 0.6(0.6) 0.5 ~ .8 0/12 | 0.6(0.6) 0.5 ~ 0.9 0/12 | 0.7(0.9) 0.5 ~ 1 0/12
i C [¢) D 1.0 0.7 ~ L5 -/12 1.2 0.7 ~ L6 -/12 1.6 0.9 ~ 2.5 -/12
S S 2 A~ 4 0/12 2 A~ 3 0/12 4 2 ~ 8 0/12
H X B BOXK 490 ~ 490 0/1 2100 170~ 16000 | 4/12 8000 490~ 35000 | 4/12
] i 9y
4 %= E3 0.53 0.44 ~ 0.61 -/2
4 ) P 0. 025 0.017 ~ 0.033 -/2
s F X v A <0. 001 ~ <0.001 | 0/4
4 v 7 v €0.1 ~ <0.1 0/2
i <0. 002 ~ <0.002 | 0/4
AN ofi 7 m A <€0. 01 ~ <0.01 0/4
| it # <0. 005 ~ <€0.005 | 0/2
#® K i <0. 0005 ~ <0.0005| 0/4
VA Y
P C B <0. 0005 ~ <0.0005 | 0/1
Y/ mowu A H v <0. 002 ~ <0.002 | 0/4
b e ok # <0. 0002 ~ <0.0002 | 0/4
L2-Y 7 v o= 4 v <0. 0004 ~ <0.0004 | 0/4
T <0. 002 ~ <0.002 | 0/4
vAZYsEE=F Ly <0. 004 ~ <0.004 | 0/4
LLI- kY s m e E sy <0. 0005 ~ <0.0005| 0/4
Ll kY s m e oE sy <0. 0006 ~ <0.0006 | 0/4
W EE <0. 002 ~ <0.002 | 0/4
FF3 s mE =T Ly <0. 0005 ~ <0.0005| 0/4
I L ¥ s = om 7 om Ny <0. 0002 ~ <0.0002| 0/4
7 4 7 N <0. 0006 ~ <0.0006 | 0/4
v v vy (CAT) <0. 0003 ~ <0.0003| 0/4
F AN h LT <0. 002 ~ <0.002 | 0/4
~ v + Dz <0. 001 ~ <0.001 | 0/4
+ v Dz <0. 002 ~ <0.002 | 0/4
5 - E3 €0. 1 ~ <0.1 0/4
Bl iz > * <0. 02 ~ <0.02 | 0/4
OB ME A R OOV RN ORE M B 0.47 0.27 ~ 0.69 0/4
(rY B M= H#) 0. 46 0.26 ~ 0.68 -/4
CHffl e M % R <€0. 01 ~ <0.01 -/4
L4 ¥ & X 4+ v <0. 005 ~ <0.005 | 0/4
/200 = T = B | VERVN
L2 ¥ s = om 7 om Ny <0. 006 ~ <0.006 | 0/1 <0. 006 ~ <0.006 | 0/1
p ¥V Z/ wom R v ¥ v
9 A i i
AT Y I v
7 xz = kB F F v
A4 v F oua F 4 T v
NN
7 monr A o = )L
7w v ¥ I K <0. 0008 ~ <0.0008| 0/1 <0. 0008 ~ <0.0008| 0/1
E P N
i Y 7 v ) R R
7 = ) 7 hoN T
£ 7 a R vk R
s/ ) = ko 7 x v
k v T v
H ¥ v % v
AR AV S A
= v e L
xt vV 7 F v
Bl > v 5 = o
Wiy =nr=x_ < —
= ¥ /7 ook KU
&~ v H v
v 7 >~
(53 7 = J — Jv H
Bl wm om ow &
o | AR~
- 7 =4 N
] b T B G
b I G W
£ T oroE =y bk E R
AT 4 i N 0. 002 0.001 ~ 0.003 -/6 0.003 <0.001 ~ 0.008 -/6
24 v wm owm &k N A <0. 003 ~ <0.003 | -/1 <0. 003 ~ <0.003 | -/1
HwE| 7 = ) — L <0. 005 ~ <0.005 | -/1 <0. 005 ~ <0.005 | -/1
Am| & v &4 7 4 F e F <€0.03 ~ <0.03 -/1 <0.03 ~ <0.03 -/1
<ffi#E>  w/nid, BREIEE CUIFREHE) I8 A LR WIREE ki
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Ju 5 # JI| K kS
i I i 7 b JII b I K + Il
il # Hi B4 B K iG] * B
A % * *
K Tk El I A B A
i) A B 2] [ & ki [
F b~ K m/n 2] b~ K m/n 2] b~ K m/n
p H 7.6 7.3~ 1.8 0/12 7.5 7.2~ 17 0/12 7.4 7.3 ~ 1.5 0/12
D @) 11 9.5 ~ 12 0/12 9.8 7.6~ 11 0/12 10 6.8 ~ 12 1/12
B B o D L1(1.2) | 0.7 ~ 17 0/12 | 1.0(1.2) | <0.5 ~ L5 0/12 | 0.9(1.0) | <0.5 ~ L5 0/12
i C [¢) D 2.3 .5~ 33 -/12 2.6 L7~ 4 -/12 2.6 1.4 ~ 4.6 -/12
S S 7 2 ~ 22 0/12 7 2 ~ 18 0/12 6 2 ~ 15 0/12
H X B BOXK 7900 ~ 7900 1/1 4900 ~ 4900 0/1 4900 ~ 4900 1/1
] i 9y
ES £ ES
4 ) v
HF YA <0. 001 ~ <0.001 | 0/4 <0. 001 ~ <0.001 | 0/4
4 v 7 v
i
AN oMy m A <€0.01 ~ <0.01 0/4 <€0.01 ~ <0.01 0/4
e | it #
#n 7K R <0. 0005 ~ <0.0005| 0/4 <0. 0005 ~ <0.0005| 0/4
VA .
P C B
Y s omom A B v <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
b e ok # <0. 0002 ~ <0.0002 | 0/4 <0. 0002 ~ <0.0002 | 0/4
L2-Y 7 v o= 4 v <0. 0004 ~ <0.0004| 0/4 <0. 0004 ~ <0.0004| 0/4
T <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
vAZYsEE=F Ly <0. 004 ~ <0.004 | 0/4 <0. 004 ~ <0.004 | 0/4
LLI- kY s m e E sy <0. 0005 ~ <0.0005| 0/4 <0. 0005 ~ <0.0005| 0/4
Ll kY s m e oE sy <0. 0006 ~ <0.0006 | 0/4 <0. 0006 ~ <0.0006 | 0/4
W EE <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
FF3 s mE =T Ly <0. 0005 ~ <0.0005| 0/4 <0. 0005 ~ <0.0005| 0/4
;| v v e e 7 e s <0. 0002 ~ <0.0002| 0/4 <0. 0002 ~ <0.0002| 0/4
7 4 7 N <0. 0006 ~ <0.0006 | 0/4 <0. 0006 ~ <0.0006 | 0/4
v v Yy (CAT) <0. 0003 ~ <0.0003| 0/4 <0. 0003 ~ <0.0003| 0/4
F AN Hh LT <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
~ v + Nz <0. 001 ~ <0.001 | 0/4 <0. 001 ~ <0.001 | 0/4
+ v Dz <0. 002 ~ <0.002 | 0/4 <0. 002 ~ <0.002 | 0/4
5 - ES <€0. 1 ~ <0.1 0/4 <€0. 1 ~ <0.1 0/4
H [E3 ) ES 0. 03 €0.02 ~ 0.04 0/4 <0. 02 ~ <0.02 | 0/4
BB KR OCHE R R MR X 0.56 0.27 ~ 0.88 0/4 0.53 0.39 ~ 0.74 0/4
(rY B M= H#) 0. 54 0.26 ~ 0.85 -/4 0. 52 0.38 ~ 0.73 -/4
CHffH e % R 0. 02 0.01 ~ 0.03 -/4 0. 02 <0.01 ~ 0.03 -/4
L4 Y & X 4+ v <0. 005 ~ <0.005 | 0/4 <0. 005 ~ <0.005 | 0/4
/7200 = T = B | VERVN
L2 ¥ s = om 7 om Ny <0. 006 ~ <0.006 | 0/1 <0. 006 ~ <0.006 | 0/1
p ¥V Z/ wom R v ¥ v
wm | AV Y F A
AT Y I v
7 xz = kB F F v
A4 v F oua F 4 T v
NN
7 monr A o = )L
7w v ¥ I K <0. 0008 ~ <0.0008| 0/1 <0. 0008 ~ <0.0008| 0/1
E P N
i Y 7 v ) R R
7 = ) 7 hoN T
£ 7 a R vk R
s/ ) = ko 7 x v
k v T v
H ¥ D % v
TNV F N F v
= v a L
t vV 7 F v
Bl > v 5 = o
Wiy =nr=x_ < —
= ¥ /7 ook KU v
&~ v H v
v 7 v
[ 7 = J — )V ¥
Bl wm om w &
g | R~
- 7 =4 N
gl kw1 x
b I G W
£ T oroE =y bk E R
EESES il i 0. 009 0.003 ~ 0.031 -/6 0. 006 0.002 ~ 0.012 -/6
24 v wm owm &k N A <0. 003 ~ <0.003 | -/1 <0. 003 ~ <0.003 | -/1
HwE| 7 = ) — L <0. 005 ~ <0.005 | -/1 <0. 005 ~ <0.005 | -/1
Al & o7 v F e ok <€0.03 ~ <0.03 | /1 <0.03 ~ <0.03 | -/l

&> w/nik, BREEE CUIFREME) [TEE L2aVWREER R
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. Ju 5 i Jil K £
e s R % )i Bk i Bk i
il # Hi K i3 AR ] B B OB
A *
K i H i D
i) A B i3] [ [ i [
F b~ K m/n F b~ K m/n F b~ K m/n
p H 7.5 7.3~ 17 0/12 7.5 7.1~ 17 -/12 7.5 7.3~ 1.6 -/12
D [0) 7.9 4.2~ 11 0/12 9.3 7.4~ 11 -/12 7.8 5.6 ~ 9.4 -/12
- B o D 2.8(3.3) .4 ~ 4.1 0/12 | 1.7(1.9) 0.9 ~ 3.2 -/12 14(17) 6.8 ~ 23 -/12
i C [¢) D 11 4.0  ~ 17 -/12 3.5 2.0 ~ 5.7 -/12 33 21 ~ 58 -/12
S S 12 2 ~ 2 0/12 13 3 ~ 39 -/12 23 8 ~ 44 -/12
H X B BOXK 11000 ~ 11000 | -/1 4600 ~ 4600 -/1 13000 ~ 13000 | -/1
] i 9y
ES %= ES
4 ) v
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